p — ZH — viobb, @14 TeV, my=115GeV

erwig 6.510 + Jimmy 4.31 + FastJet 2.3

all jets, default R = 1.2

p, [GeV]
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p — ZH — viobb, @14 TeV, my=115GeV

Herwig 6.510 + Jimmy 4.31 + Fastlet 2.3

all jets, default R = 1.2
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Fill it in, — show jets more clearly
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p — ZH — viobb, @14 TeV, my=115GeV

SIGNAL

200 < piz < 250 GeV
0-15 T T T T T T T
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p — ZH — viobb, @14 TeV, my=115GeV

SIGNAL

200 < piz < 250 GeV
0.15 ———

erwig 6.510 + Jimmy 4.31 + FastJet 2.3

Drop step 1; Delta R = 1.03129; pt1=243.291 m1=139.158; pt2=3.944 m2=5.24475 : :
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p — ZH — viobb, @14 TeV, my=115GeV

erwig 6.510 + Jimmy 4.31 + FastJet 2.3
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p — ZH — viobb, @14 TeV, my=115GeV

erwig 6.510 + Jimmy 4.31 + FastJet 2.3
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p — ZH — viobb, @14 TeV, my=115GeV

erwig 6.510 + Jimmy 4.31 + FastJet 2.

SIGNAL
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p — ZH — viobb, @14 TeV, my=115GeV

erwig 6.510 + Jimmy 4.31 + FastJet 2.3

Rgi: = 0.3: take 3 hardest, m = 117 GeV

Final filtered result, pt=227.257 m=117.211
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pp — ZH — visbb, @14 TeV, my=115GeV

The declustering and cuts
do two things

 sharpen signals

* reduce backgrounds



